1 <?xml version="1.0" encoding="UTF-8"7>
2 <ClinicalDocument xmlIns:xsi="http://www. w3. org/2001/XMLSchema-instance”
xsi:schemaLocation="urn:hl7-org:v3 .. /XSD/hg08 V08. xsd” xmIns="urn:hl7-org:v3™>
<typeld root="2.16. 840. 1. 113883. 1. 3" extension="POCD_HD000040" />
<id nullFlavor="NI" />
<code code="21" codeSystem="1. 2. 392. 200119. 6. 1001 />
<effectiveTime value="20081216" />
<confidentialityCode code="N" codeSystem="2.16. 840. 1. 113883. 5. 25" />
<recordTarget>
<patientRole>
<id root="1.2.392.200119. 6. 101" extension="00137101" />
<id root="1.2 392 200119. 6. 204" extension="(X0 1" />
<id root="1.2 392 200119. 6. 205" extension="1" />
<addr>
<postalCode>100-0701</postalCode>
</addr>
<patient>
name> K7 ¥ a2 7</name>
<administrativeGenderCode code="1" codeSystem="1. 2. 392. 200119. 6. 1104" />
<birthTime value="19500321" />
</patient>
</patientRole>
22  </recordTarget>
23 <author>
24 <time value="20081216" />
25 <assignedAuthor>
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26 <id nullFlavor="NI" />

27 <representedOrganization>

28 <id root="1.2.392.200119. 6. 102" extension="1310007103" />

29 <name> 1 3g§& 4 1) = 4 </name>

30 <telecom value="tel :0300070001" />

31 <addr>

32 <postalCode>100-7001</postalCode> HRE FREXXHT 1 F5E E )L 7 fE</addr>
33 </representedOrganization>

34 </assignedAuthor>
35  </author>
36 <custodian>

37 <assignedCustodian>

38 <representedCustodianOrganization>
39 <id nul IFlavor="NI" />

40 </representedCustodianOrganization>
41 </assignedCustodian>

42  </custodian>

43  <participant typeCode="HLD">

44 <functionCode code="1" codeSystem="1. 2. 392. 200119. 6. 208" />
45 <associatedEntity classCode="IDENT™>

46 <id extension="08100000001" root="1. 2. 392. 200119. 6. 209. 100137101 />
47 <scopingOrganization>

48 <id root="1.2.392.200119. 6. 101" extension="00137101" />

49 </scopingOrganization>

50 </associatedEntity>

b1  </participant>

b2 <participant typeCode="HLD">

53 <functionCode code="2" codeSystem="1. 2. 392. 200119. 6. 208" />

b4 <time>

55 <high value="20090331" />

56 </time>

57 <associatedEntity classCode="IDENT™>

b8 <id extension="08200000001" root="1. 2. 392. 200119. 6. 210. 100137101 />
59 <scopingOrganization>

60 <id root="1.2.392.200119. 6. 101" extension="00137101" />

61 </scopingOrganization>

62 </associatedEntity>
63 </participant>

64  <documentationOf>

65 <serviceEvent>

66 <code code="100" codeSystem="1. 2. 392. 200119. 6. 1002” displayName="4FFEHFEE" />
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<effectiveTime value="20080502" />
<performer typeCode="PRF">
<assignedEntity>
<id nullFlavor="NI" />
<representedOrganization>
<id root="1.2.392.200119. 6. 102" extension="1310007103" />
<name> 1 3§& 4 1) = 4 </name>
<tgéecom value="tel:0300070001" />
<addr>
<postalCode>100-7001</postalCode> HRE FREXXHHT 1 F5E E )L 7 fE</addr>
</representedOrganization>
</assignedEntity>
</performer>
</serviceEvent>
</documentation0f>
<component>
<structuredBody>
<component>
<section>
<code code="90010" codeSystem="1. 2. 392. 200119. 6. 1010”
displayName="fgEH@IBFEHR LI a > />
<text />
<entry>
<act classCode="ACT” moodCode="EVN">
<code nul IFlavor="NA" />
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN™>
<code code="1020000001" displayName="#EL NJL” />
<value xsi:type="CD" code="1" codeSystem="1. 2. 392. 200119. 6. 3001 />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN™>
<code code="1020000002" displayName="fTE8/ZTARSRXT—>" />
<value xsi:type="CD" code="1" codeSystem="1. 2. 392. 200119. 6. 3002 />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP”>
<observation classCode="0BS” moodCode="EVN™>
<code code="1020000003" displayName="{REigE 31— L~ />
<value xsi:type="ST>4 < H < a1—X</value>
</observation>
</entryRelationship>
</act>
</entry>
</section>
</component>
<component>
<section>
<code code="90030" codeSystem="1. 2. 392. 200119. 6. 1010”
displayName="1gE#EIEHR LI a3 >" />
<text />
<entry>
<act classCode="ACT” moodCode="EVN™">
<code code="1" codeSystem="1. 2. 392. 200119. 6. 3003” />
<effectiveTime value="20080502" />
<performer>
<assignedEntity>
<id nullFlavor="NI" />
<code code="1" codeSystem="1. 2. 392. 200119. 6. 3020” />
</assignedEntity>
</performer>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="EVN™>
<code code="1022000013" />
<effectivelime>
<width value="20" unit="min” />
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</effectiveTime>
</observation>
</entryRelationship>
</act>
</entry>
<entry>
<act classCode="ACT” moodCode="INT">
<code nul IFlavor="NA" />
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode=""INT">
<code code="1021000020" displayName="##cH0 =T ELR~ />
<value xsi:type="PQ” value="12" unit="wk” />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode="GOL">
<code code="1021001031" displayName="EiEEE" />
<value xsi:type="PQ” value="80" unit="cm” />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode="GOL">
<code code="1021001032" displayName="BiE&EKE" />
<value xsi:type="PQ” value="70" unit="kg" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode="GOL">
<code code="1021001033" displayName="EiEXMELEAME" />
<value xsi:type="PQ” value="120" unit="mm[Hg]” />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode="GOL">
<code code="1021001034" displayName="B+{2¥LEEHAME" />
<value xsi:type="PQ” value="80" unit="mm[Hg]" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP”>
<observation classCode="0BS™ moodCode="GOL">
<code code="1021001050" displayName="—H D HEIBEEIXILFT—E" />
<value xsi:type="PQ” value="500" unit="kcal” />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode="GOL">

<code code="1021001051" displayName="—H D E&I- Lk ZBET RILF—F" />

<value xsi:type="PQ” value="250" unit="kcal” />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode="GOL">

<code code="1021001052" displayName="—HNDEBHIZLHZ2BEIXRILFT—E"

<value xsi:type="PQ” value="1500" unit="kcal”™ />
</observation>
</entryRelationship>
</act>
</entry>
</section>
</component>
<component>
<section>
<code code="90070" codeSystem="1. 2. 392. 200119. 6. 1010”
displayName="1g &Kt 1EHR LI/ > a>" /1
<text />
<entry>
<act classCode="ACT” moodCode="INT™">

g13100071032008121602000000. xm|



<code nul IFlavor="NA" />
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode="INT">
<code code="1041800117" displayName="5ti@ £ D#KEH G BEDOEFKERE" />
<value xsi:type="INT" value="7" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode="INT">
<code code="1041101117" displayName="[E_E D EFEEE (FERIZHEA) ~ />
<value xsi:type="INT” value="2" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="INT">
<code code="1041101113" displayName="[E_t D& ETE=HERR (ERIZEA) ~ />
<value xsi:type="PQ” value="40" unit="min” />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="INT">
<code code="1041201117" displayName="[E_E DEFEEE (ERIZHEB) ~ />
<value xsi:type="INT” value="0" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="INT">
<code code="1041201113" displayName="fa_t D& ETE=HERR (ERIZEB) ~ />
<value xsi:type="PQ” value="0" unit="min” />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="INT">
<code code="1041302117" displayName="E - DEMREL (FIL—TXE) ~
<value xsi:type="INT” value="0" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP”>
<observation classCode="0BS” moodCode="INT">
<code code="1041302113" displayName="1&]_t & 5+ HBRERH
(FIL—Tx%% ~ > o
<value xsi:type="PQ” value="0" unit="min” />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="INT">
<code code="1041103117" displayName="[Rl L DEMEE % (BFAIZLZ2XE) "/,
<value xsi:type="INT” value="0" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="INT">
<code code="1041103113" displayName="[ Lt D& F+EHERE
BEAICKDZXE) 7
<value xsi:type="PQ” value="0" unit="min” />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="INT">
<code code="1041104117" displayName="a]_L M EfERE] %k
(emailAlIZ&kB%E) ~ />
<value xsi:type="INT” value="0" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS” moodCode="INT">
<code code="1041203117" displayName="E_ L DEFEEE (FZFBIcLdXE) ~
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<value xsi:type="INT” value="1" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode=""INT">

<code code="1041203113" displayName="F]_t O & s+ HEHFRA

BEEBICL2XE) 7 /S
<value xsi:type="PQ” value="b" unit="min” />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode=""INT">
<code code="1041204117" displayName="a] L M EfERE] %k
(emailBIz&k 5% ~ />
<value xsi:type="INT” value="2" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode=""INT">

<code code="1041100114" displayName="Rl EIZ LB R4 >k (ZEEA”

<value xsi:type="INT” value="160" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode=""INT">

<code code="1041200114" displayName="Rl EIZ LB R4 >k (Z#B)”

<value xsi:type="INT” value="20" />
</observation>
</entryRelationship>
<entryRelationship typeCode="COMP™>
<observation classCode="0BS™ moodCode=""INT">

/>

/>

<code code="1041800114" displayName="B EIZ L BRA >~ (HEH)” />

<value xsi:type="INT” value="180" />
</observation>
</entryRelationship>
</act>
</entry>
</section>
</component>
</structuredBody>
</component>

301 </ClinicalDocument>
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